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K H, 242 484 2380
—R{b iR R co 283 566 2380
A CH, 802 401 2220
sy NN~ CHp 3272 400 2270
PO b CiHp, 3265 408 2270
=L = O CeH, 3689 410 2280
TFLL = CH, 1323 441 2370
1~ Ty SN2 CHy 3155 421 2310
FEFL = CH, 1257 503 2540
T ~_OH CHO 1277 426 2240
DME o~ CHO 1328 443 2280
ETBE \/07( CeHO 3740 416 2270
Py ©) CéHe 3169 423 2340
SO —~0O) CHs 3772 419 2330
AT L YN CHRO, 3341 418 2250
BTV AT L W\Ol/o\ CuH»O, 6415 414 2260
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& 3.2: WrEE L Ay
(H2:02:2:1, 1 atm)

R [K] 3075

TSR [%]
H,O 58.16
H, 14.89
OH 11.25
H 7.58
0, 4.92
O 3.20

Hi®(T) = Hip°(298.15) [kI mol™] ¢, [1 K mol™]
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He [kJ mol™]
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# 3.3: NASA CEA2 Pt A 414
i) Hy-0, (U 4720

wEER 3

problem
phi,eq
reac
fuel=
oxid=
end

case=h2-02 hp p(atm)=1
-ratio=1

H2 wt%=100 t(k)= 298.15
02 wt%=100 t(k)= 298.15

i) Hp-0, (ZE#% H,0, Hy, O, IZBRE)

problem

phi,eq
reac

fuel=

case=h2-02 hp p(atm)=1
-ratio=1

H2 wt%=100 t(k)= 298.15

100%

50F

o

oxid= 02 wt%=100 t(k)= 298.15
only H20 H2 02
end
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